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Concept Lecture – 1 



𝑨,𝑩 and 𝑪 invested capitals in the ratio
𝟑: 𝟓: 𝟗, the timing of their investment being in
the ratio 𝟐: 𝟑: 𝟏. In what ratio would their
profits be distributed?
𝑨,𝑩 और 𝑪 𝟑: 𝟓: 𝟗 के अनपुात में अपनी प ूंजी
को ननवेश करते है, उनके ननवेश का समय
𝟐: 𝟑: 𝟏 के अनपुात में है। उनके लाभ को ककस
अनपुात में ववतररत ककया जायेगा?
a) 𝟑: 𝟐: 𝟓 b) 𝟑: 𝟓: 𝟐 c) 𝟐: 𝟓: 𝟑 d) 𝟓: 𝟐: 𝟑
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Sumit, Punit and Ramit started a business by
investing their capitals in the ratio 𝟏: 𝟐: 𝟑. At
the end of business term, they received the
profits in the ratio 𝟒: 𝟓: 𝟔. Find the ratio of
their periods of investment.
समुमत, पनुनत और रममत ने एक व्यापार में
𝟏: 𝟐: 𝟑 के अनपुात में अपनी प ूंजी को ननवेश
ककया। व्यापार के अूंत में, उन्हें 𝟒: 𝟓: 𝟔 के
अनपुात में लाभ प्राप्त ककया। उस समय का
अनपुात ज्ञात कीजजये जजसके मलए उन्होंने
अपनी प ूंजजयों का योगदान ददया।
a) 𝟖: 𝟓: 𝟒 b) 𝟒: 𝟓: 𝟖 c) 𝟖: 𝟒: 𝟓 d) 𝟓: 𝟒: 𝟖
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𝑨,𝑩 and 𝑪 started a business. If the ratio of
their periods of investment is 𝟐: 𝟑: 𝟔 and
their profits are in the ratio of 𝟒: 𝟓: 𝟔, then
the ratio of capitals of 𝑨,𝑩 and 𝑪 is:
𝑨.𝑩 और 𝑪 ने एक व्यवसाय शरुू ककया।
यदद उनके द्वारा प ूंजी को ननवेश करने का
समय का अनपुात 𝟐: 𝟑: 𝟔 हो और उनके
लाभ को ववतररत करने का अनपुात 𝟒: 𝟓; 𝟔
हो, तो उनके द्वारा ननवेश ककये गये धनराशी
का अनपुात ज्ञात कीजजये:
a) 𝟓: 𝟔: 𝟑 b) 𝟔: 𝟑: 𝟓 c) 𝟑: 𝟓: 𝟔 d) 𝟔: 𝟓: 𝟑

4



Mahesh, Suresh and Ganesh entered into a
partnership. Mahesh invested
𝑹𝒔. 𝟏𝟔𝟎𝟎𝟎 for 𝟗 months. Suresh invested
𝑹𝒔. 𝟏𝟐𝟎𝟎𝟎 for 6 months and Ganesh
invested 𝑹𝒔. 𝟖𝟎𝟎𝟎 for 𝟏𝟐 months. At the
end of a year there was a profit of
𝑹𝒔. 𝟐𝟔𝟎𝟎𝟎. Find the share of Suresh in the
profit?
महेश, सुरेश और गणेश ममलकर एक व्यापार
आरम्भ करते है। महेश ने 𝟏𝟔𝟎𝟎𝟎 रुपये 𝟗
महीनों के मलए, सुरेश ने 𝟏𝟐𝟎𝟎𝟎 रुपये 𝟔
महीनों के मलए और गणेश ने 8000 रुपये
𝟏𝟐 महीनों के मलए ककया। वर्ष के अूंत में
𝟐𝟔𝟎𝟎𝟎 रुपये का लाभ होता है। तो लाभाूंश
में से सुरेश का दहस्सा ज्ञात करे:
a) 𝟏𝟐𝟎𝟎𝟎 b) 𝟔𝟎𝟎𝟎
c) 𝟖𝟎𝟎𝟎 d) 𝟏𝟎𝟎𝟎𝟎
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Four milkmen rented a pasture. 𝑨 put to
graze 𝟏𝟔 cows for 𝟑 months, 𝑩 𝟐𝟎 cows
for 𝟒 months, 𝑪 𝟏𝟖 cows for 𝟔 months
and 𝑫 𝟒𝟐 cows for 𝟐 months. If 𝑨, 𝒔
share of rent be 𝑹𝒔. 𝟐𝟒𝟎𝟎, the rent paid
by 𝑪 is:
चार द धधयों ने एक चारागाह ककरये पर
ली| 𝑨 ने 𝟏𝟔 गायें 𝟑 महीने के मलए
चराई, 𝑩 ने 𝟐𝟎 गायें 𝟒 महीने के मलए,
𝑪 ने 𝟏𝟖 गायें 𝟔 महीने के मलए और 𝑫
ने 𝟒𝟐 गायें 𝟐 महीने के मलए चराई| अगर
ककराये में 𝑨 का दहस्सा 𝟐𝟒𝟎𝟎 रूपए
बना है तो C का ककतना दहस्सा बना?
a) 𝑹𝒔. 𝟑𝟐𝟎𝟎 b) 𝑹𝒔. 𝟒𝟐𝟎𝟎
c) 𝑹𝒔. 𝟒𝟎𝟎𝟎 d) 𝑹𝒔. 𝟓𝟒𝟎𝟎
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Miki, Nisha and Anu formed a partnership
with investments of 𝑹𝒔. 𝟕𝟓𝟎𝟎𝟎 ,
𝑹𝒔. 𝟔𝟎𝟎𝟎𝟎 and 𝑹𝒔. 𝟒𝟎𝟎𝟎𝟎 respectively.
After 𝟑 years of operation they had a net
profit of 𝑹𝒔. 𝟐𝟔𝟐𝟓𝟎. What was the share of
Anu in the profit?
मीकी, ननशा और अनु ममलकर एक व्यापार
में क्रमशः 𝟕𝟓𝟎𝟎𝟎 रुपये, 𝟔𝟎𝟎𝟎𝟎 रूपये और
𝟒𝟓𝟎𝟎𝟎 रूपये ननवेश करती हैं। 𝟑 वर्ों के
बाद कुल लाभाूंश 𝟐𝟔𝟐𝟓𝟎 रूपये हो तो ज्ञात
करें अनु के दहस्से ककतना लाभ आया?
a) 𝟏𝟏𝟐𝟓 b) 𝟗𝟎𝟎𝟎 c) 𝟔𝟎𝟎𝟎 d) none
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Jatinder and Harinder entered into a
partnership with their capitals in the ratio
𝟓: 𝟗 . At the end of 𝟖 months Jatinder
withdraws his capital. If they received the
profit in the ratio 𝟒: 𝟗 , find how long
Harinder capital was used?
जनतूंदर और हररूंदर ने एक साझदेारी में 𝟓: 𝟗
के अनपुात में अपनी प ूंजी को ननवेश ककया।
𝟖 महीनों के अूंत में जनतूंदर ने अपनी
धनराशी ननकल ली। यदद वे लाभ को 𝟒: 𝟗 के
अनपुात में बाूंटते है, तो हररूंदर ने ककतने
समय के मलए अपनी धनराशी ननवेश की?
a) 𝟗 months b) 𝟏𝟎 months
c) 𝟐 months d) 𝟏 year
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Amrinder began a business with
𝑹𝒔. 𝟓𝟓𝟎 and was joined afterwards by
Balwinder with 𝑹𝒔. 𝟑𝟑𝟎. After how many
months did Balwinder join if the profit at
the end of year were divided in ratio 𝟐𝟎: 𝟗?
अमररूंदर ने एक व्यापार की शरुुआत में 𝟓𝟓𝟎
रूपये की प ूँजी ननवेश की तथा कुछ समय
बाद बलववूंदर 𝟑𝟑𝟎 रूपये ननवेश कर उस
व्यापर में शाममल हो गया। यदद एक वर्ष के
अूंत में उन्हें 𝟐𝟎: 𝟗 के अनपुात में लाभ प्राप्त
हुआ हो तो ज्ञात करें बलववूंदर ककतने समय
के बाद व्यापर में शाममल हुआ?
a) 𝟔 months b) 𝟖 months
c) 𝟗 months d) 3 months
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Aman, Baman and Raman jointly invested
𝑹𝒔. 𝟔𝟎, 𝟎𝟎𝟎 in a small service firm. They earned a
profit of 𝑹𝒔. 𝟏, 𝟎𝟎, 𝟎𝟎𝟎 in one year. Aman and
Baman receives 𝑹𝒔. 𝟒𝟎, 𝟎𝟎𝟎 and 𝑹𝒔. 𝟐𝟓, 𝟎𝟎𝟎 as
their share of the profit. The respective
investments of Aman, Baman and Raman were:
अमन, बमन और रमन ने व्यापार में कुल 𝟔𝟎𝟎𝟎𝟎
रूपए ननवेश ककये| उन्हें एक वर्ष में 𝟏 लाख रूपए
का लाभ हुआ| अमन और बमन के दहस्से में
क्रमश: 𝟒𝟎𝟎𝟎𝟎 और 𝟐𝟓𝟎𝟎𝟎 रूपए आये| तो क्रमश:
अमन, बमन और रमन की ननवेश प ूँजी बताइए|
a) 𝟑𝟎𝟎𝟎𝟎, 𝟏𝟎𝟎𝟎𝟎, 𝟐𝟎𝟎𝟎𝟎
b) 𝟐𝟏𝟎𝟎𝟎, 𝟏𝟓𝟎𝟎𝟎, 𝟐𝟒𝟎𝟎𝟎
c) 𝟐𝟒𝟎𝟎𝟎, 𝟏𝟓𝟎𝟎𝟎, 𝟐𝟏𝟎𝟎𝟎
d) 𝟐𝟓𝟎𝟎𝟎, 𝟏𝟐𝟎𝟎𝟎, 𝟐𝟑𝟎𝟎𝟎
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𝑨 and 𝑩 enter into a partnership with
𝑹𝒔. 𝟓𝟎, 𝟎𝟎𝟎 and 𝑹𝒔. 𝟔𝟎, 𝟎𝟎𝟎 respectively. 𝑪
joins them after 𝒙 months, contributing
𝑹𝒔. 𝟕𝟎, 𝟎𝟎𝟎 and 𝑩 leaves 𝒙 months before the
end of the year. If they share the profit in the
ratio of 𝟐𝟎 ∶ 𝟏𝟖 ∶ 𝟐𝟏, then find the value of 𝒙.
𝑨 और 𝑩 क्रमश: 𝟓𝟎, 𝟎𝟎𝟎 व 𝟔𝟎, 𝟎𝟎𝟎रु लगाकर
साझदेारी करते है| 𝑪 𝟕𝟎, 𝟎𝟎𝟎रु के साथ 𝒙 महीनो
के बाद इस साझदेारी में शाममल होता है और 𝑩
वर्ष ख़तम होने से 𝒙 महीने पहले साझदेारी से
बाहर ननकाल जाता है| अगर उनके लाभ का
अनपुात 𝟐𝟎: 𝟏𝟖: 𝟐𝟏 हो तो 𝒙 का मान ज्ञात करे?
a) 𝟔 b) 𝟑 c) 𝟗 d) 𝟖
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‘A’ started a business with a capital of

Rs.𝟓𝟒, 𝟎𝟎𝟎 and admitted ‘B’ and ‘C’ after 𝟒

months and 𝟔 months, respectively. At the end

of the year, the profit was divided in the ratio

𝟏 ∶ 𝟒 ∶ 𝟓. What is the difference between the

capitals invested by ‘B’ and ‘C’?

A ने 𝟓𝟒, 𝟎𝟎𝟎 रूपये की प ूंजी के साथ एक
व्यवसाय शरुू ककया और B और C क्रमश: 𝟒

महीने बाद जुड़|े वर्ष के अूंत में, लाभ को 𝟏 ∶ 𝟒 ∶

𝟓. के अनपुात में ववभाजजत ककया गया| B और C

द्वारा ननवेश की गई प ूंजीयों में क्या अूंतर है?
a) Rs. 𝟐, 𝟏𝟔, 𝟎𝟎𝟎 b) Rs.𝟑, 𝟐𝟒, 𝟎𝟎𝟎

c) Rs.𝟏, 𝟔𝟐, 𝟎𝟎𝟎 d) Rs.𝟏, 𝟎𝟖, 𝟎𝟎𝟎

12
SSC CGL T2 11 Sep, 2019



A, B and C are partners in a business. A, whose

capital was used for 𝟓 months, claims 𝟏/𝟕 part of

the total profit. B, whose capital was used for 𝟕

months, claims 𝟏/𝟓 part of the total profit. If C

invested Rs,𝟒, 𝟔𝟎𝟎 for 𝟗 months, the what is the

amount invested by A?

A, B और C एक व्यवसाय में साझदेार है| A जजसकी
प ूंजी 𝟓 महीने के मलए इस्तेमाल की गई है, लाभ में
से 𝟏/𝟕 भाग का दावा करता है| B, जजसकी प ूंजी 𝟕

महीने के मलए इस्तमेाल की गई है, लाभ में से 𝟏/𝟓

भाग का दावा करता है| C ने 𝟗 महीनों के मलए
रु.𝟒, 𝟔𝟎𝟎 का ननवेश ककया है| A ने ककतनी प ूंजी का
ननवेश ककया है?
a) Rs.𝟏, 𝟖𝟎𝟎 b) Rs.𝟏, 𝟔𝟓𝟎 c) Rs.𝟏, 𝟔𝟎𝟎 d) Rs.𝟏, 𝟖𝟓𝟎
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𝑨 and 𝑩 are partners in a business. 𝑨 invests ₹𝟑

lakhs more than 𝑩. 𝑩 invests his capital for 𝟕
𝟏

𝟐

months, while 𝑨 invests his capital for 𝟐
𝟏

𝟐
more

months than 𝑩. If the share of 𝑩 in the total profit
of ₹𝟔. 𝟐𝟓 lakhs is ₹𝟏. 𝟐𝟓 lakhs less than the share
of 𝑨, then what is the capital (in ₹ lakhs) invested
by 𝑩?
𝑨 और 𝑩 एक व्ययसाय में भागीदार हैं| 𝑨, 𝑩 से
₹𝟑 लाख अधधक ननवेश करता है| 𝑩 अपनी प ूंजी 𝟕 𝟏

𝟐
महीने के मलए ननवेश करता है, जबकक 𝑨 अपनी
प ूंजी 𝑩 से 𝟐 𝟏

𝟐
महीने अधधक अवधध के मलए ननवेश

करता है| यदद ₹𝟔. 𝟐𝟓 लाख के कुल लाभ में 𝑩 का
भाग 𝑨 के भाग से ₹𝟏. 𝟐𝟓 लाख कम हैं, तो 𝑩
द्वारा ननवेश की गई प ूंजी (₹ लाख में) क्या है?
a) 𝟐𝟒 b) 𝟐𝟎 c) 𝟏𝟓 d) 𝟏𝟖

ICAR, 28 Feb 2022, S3 



𝑨 and 𝑩 enters into partnership for a year. 𝑨
contributes 𝑹𝒔. 𝟏𝟓𝟎𝟎 and 𝑩 𝑹𝒔. 𝟐𝟎𝟎𝟎 .
After 𝟒 months they admitted 𝑪 who
contributes 𝑹𝒔. 𝟐𝟐𝟓𝟎. If 𝑩 withdraws his
contribution after 𝟗 months, at the end of
year they share profit in the ratio:
𝑨 और 𝑩 एक वर्ष के मलए एक व्यापार
आरम्भ ककया। 𝑨 ने 𝟏𝟓𝟎𝟎 रुपये तथा 𝑩 ने
𝟐𝟎𝟎𝟎 रुपये ननवेश ककये। चार महीनों के बाद
𝑪 भी उस व्यापार में शाममल हो गया जजसने
𝟐𝟐𝟓𝟎 रुपये ननवेश ककया। यदद 𝟗 महीने बाद
𝑩 अपनी धनराशी ननकाल ले, तो वर्ष के अूंत
में लाभ को बाूँटने के मलए अनपुात ज्ञात करे:
a) 𝟏: 𝟐: 𝟑 b) 𝟏: 𝟏: 𝟐 c) 𝟏: 𝟏: 𝟏 d) can’t say
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𝑨,𝑩 and 𝑪 started a business with their
investments in the ratio 𝟏: 𝟐: 𝟒 . After 𝟔
months 𝑨 invested the half amount more as
before and B invested twice the amount as

before while 𝑪 withdrew
𝟏

𝟒
th of his

investment. Find the ratio of their profits at
the end of the year.
𝑨,𝑩और 𝑪 ने 𝟏: 𝟐: 𝟒 के अनपुात में ननवेश
करके व्यापर शरुू ककया| 𝟔 महीने बाद 𝑨 ने
पहले से आधा और 𝑩 ने पहले से दोगनुा
और ननवेश ककया बजकक 𝑪 ने एक चौथाई
राशी ननकल ली| एक वर्ष के अूंत में उनके
लाभ का अनपुात ज्ञात करें|
a) 𝟓: 𝟏𝟒: 𝟏𝟔 b) 𝟑: 𝟏𝟔: 𝟏𝟒
c) 𝟓: 𝟏𝟔: 𝟏𝟒 d) 𝟑: 𝟕: 𝟔
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𝑨,𝑩 and 𝑪 started a business with their capitals in the

ratio 𝟐 ∶ 𝟑 ∶ 𝟓. 𝑨 increased his capital by 𝟓𝟎% after 𝟒

months, 𝑩 increased his capital by 𝟑𝟑
𝟏

𝟑
% after 𝟔

months and 𝑪 withdrew 𝟓𝟎% of his capital after 𝟖

months, from the start of the business. If the total profit

at the end of a year was Rs 𝟖𝟔, 𝟖𝟎𝟎, then the difference

between the shares of A and C in the profit was:

𝑨,𝑩और 𝑪 ने 𝟐 ∶ 𝟑 ∶ 𝟓 के अनुपात में प ूंजी लगाकर एक
व्यवसाय शुरू ककया| व्यवसाय शुरू करने के 𝟒 महीने बाद,
𝑨 अपनी प ूंजी 𝟓𝟎% बढ़ा देता है और 𝑩, 𝟔 महीने बाद
अपनी प ूंजी 𝟑𝟑

𝟏

𝟑
% बढ़ा देता है तथा 𝑪, 𝟖 महीने बाद

अपनी 𝟓𝟎% प ूंजी ननकाल लेता है| यदद वर्ष के अूंत में
कुल लाभ रु. 𝟖𝟔, 𝟖𝟎𝟎 हुआ हो, तो लाभ में 𝑨 और 𝑪 के
दहस्सों का अूंतर क्या था?
a) Rs𝟏𝟐𝟔𝟎𝟎 b) Rs𝟕𝟎𝟎𝟎 c) Rs𝟖𝟒𝟎𝟎 d) Rs𝟗𝟖𝟎𝟎
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SSC CGL T2 13 Sep 2019



Sita and Gita enter into a partnership. Sita contributes
𝑹𝒔. 𝟓𝟎𝟎𝟎 while Gita contributes 𝑹𝒔. 𝟒𝟎𝟎𝟎.After 𝟏 month
Gita withdraws 𝟏/𝟒th part of her contribution and after
𝟑 months from starting Sita put 𝑹𝒔. 𝟐𝟎𝟎𝟎 more. When
Gita withdraws her money at the same time Rita also
joined them with 𝑹𝒔. 𝟕𝟎𝟎𝟎. If at the end of 𝟏 year there
is a profit of 𝑹𝒔. 𝟏𝟗𝟐𝟎. What will be the share of Rita in
the profit?
सीता और गीता एक व्यापार शुरू करती है। सीता व्यापार
में 𝟓𝟎𝟎𝟎 रूपये ननवेश करती है जबकक गीता व्यापार में
𝟒𝟎𝟎0 रूपये ननवेश करती है। 𝟏 महीने बाद गीता अपनी
धनराशी से 𝟏/𝟒𝒕𝒉 दहस्सा ननकाल लेती है और सीता
शुरुआत से 𝟑 महीनों बाद और 𝟐𝟎𝟎𝟎 रूपये ननवेश करती
है। जब गीता अपनी धनराशी ननकालती है तो उसी समय
पर रीता 𝟕𝟎𝟎𝟎 रूपये व्यापर में ननवेश करती है। यदद एक
वर्ष के अूंत में उन्हें 𝟏𝟗𝟐𝟎 रूपये का लाभ हो तो ज्ञात करें
रीता के दहस्से में ककतनी धनराशी आएगी?
a) 𝟕𝟕𝟎 b) 𝟕𝟖𝟎 c) 𝟑𝟕𝟎 d) none
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A, B and C invest capitals in a business in the ratio
𝟖 ∶ 𝟑 ∶ 𝟗. At the end of every quarter. A halves his
capital, whereas B doubles his capital and C leaves
his capital as it is. At the end of a year C’s share in
the total profit is ₹𝟗, 𝟔𝟎, 𝟎𝟎𝟎. What is B’s share (in
₹) in the profit?
A, B और C ने एक व्यवसाय में 𝟖 ∶ 𝟑 ∶ 𝟗 के
अनपुात में प ूंजी का ननवेश ककया| प्रत्येक नतमाही के
अूंत में, A अपनी प ूंजी आधी कर देता है, जबकक B
अपनी प ूंजी दोगुनी कर देता है और C अपनी प ूंजी
में कोई पररवतषन नही करता| एक वर्ष के अूंत में,
कुल लाभ में C का भाग ₹𝟗, 𝟔𝟎, 𝟎𝟎𝟎 है| लाभ में B
का भाग (₹ में) ककतना होगा?
a) 𝟏𝟎, 𝟖𝟎, 𝟎𝟎𝟎 b) 𝟏𝟑, 𝟐𝟎, 𝟎𝟎𝟎
c) 𝟏𝟐, 𝟎𝟎, 𝟎𝟎𝟎 d) 𝟏𝟒, 𝟒𝟎, 𝟎𝟎𝟎

ICAR 5 Mar 2022, S2



Three friends 𝑨,𝑩, and 𝑪 started a venture
with capitals in the ratio of 𝟒: 𝟏: 𝟏𝟓. At the
end of every quarter 𝑨 halves his capital,
whereas 𝑩 doubles his capital, and 𝑪 leaves
his capital untouched. This process is
repeated till the end of the year. If at the
end of the year 𝑩’𝒔 share of the profit is
𝑹𝒔. 𝟐𝟐, 𝟎𝟎𝟎, what is the total profit?
तीन दोस्त 𝑨,𝑩 तथा 𝑪 ने 𝟒: 𝟏: 𝟏𝟓 के
अनपुात में प ूँजी ननवेश की| हर नतमाही के
बाद 𝑨 ने अपनी प ूँजी आधी कर दी और 𝑩
ने दोगुनी कर दी| ऐसा साल के अूंत तक
चलता रहा| अगर मनुाफे में 𝑩 का दहस्सा
𝟐𝟐𝟎𝟎𝟎 रूपए बना, तो कुल मनुाफा बताओ|
a) 𝟖𝟖, 𝟎𝟎𝟎 b) 𝟏, 𝟏𝟎, 𝟎𝟎𝟎
c) 𝟏, 𝟐𝟏, 𝟎𝟎𝟎 d) None of these
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𝑨, 𝑩 and 𝑪 started a business with their capitals in the

ratio
𝟏

𝟑
:
𝟏

𝟔
:
𝟑

𝟒
. At the end of every quarter. 𝑨 halves his

capital. Whereas 𝑩 double his capital. And 𝑪 leaves his
capital unchanged. At the end of a year. 𝑨’𝒔 share in the
total profit was ₹𝟐. 𝟓 lakhs. What was the difference (in
₹ lakhs) between the shares in the profit of 𝑪 and 𝑩?

𝑨 , 𝑩 और 𝑪 ने 𝟏

𝟑
:
𝟏

𝟔
:
𝟑

𝟒
के अनपुात में अपनी प ूंजी के

साथ एक व्ययसाय शरुू ककया| प्रत्येक नतमाही के अूंत में,
𝑨 अपनी प जी को आधा कर देता है, जबकक 𝑩 अपनी
प ूंजी को दोगुना कर देता है और 𝑪 अपनी प जी को
अपररवनतषत रखता है| वर्ष के अूंत में, कुल लाभ में 𝑨 का
दहस्सा ₹𝟐. 𝟓 लाख था| लाभ में 𝑪 और 𝑩 के दहस्सों का
अूंतर (₹ लाख में) ककतना था?
a) 𝟐. 𝟒 b) 𝟐 c) 𝟏. 𝟖 d) 𝟐. 𝟓

ICAR, 28 Feb 2022, S2 
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A and B started a business by investing ₹70,000
each. After 10 months A invests an additional
amount of ₹40,000. After 2 more months B
withdraws ₹ 20,000. After 2 more months a
third person C joins the business and invests ₹
40,000. If at the end of 2 years, C gets ₹7,500 as
his share of profit, then what is A’s share in the
profit?
A और B, प्रत्येक ने ₹70,000 का ननवेश करके
कोई व्यवसाय शुरू ककया। 10 महीने के बाद A,
₹40,000 की अनतररक्त रामश का ननवेश करता है।
और 2 महीनों बाद B, ₹20,000 ननकालता है। और
2 महीनों के बाद, कोई तीसरा व्यजक्त C
व्यवसाय में जुड़ता है और ₹40,000 ननवेश करता
है। यदद 2 वर्ष के अूंत में, C को अपने लाभ के
दहस्से के रूप में ₹7,500 ममलता है, तो लाभ में
A का दहस्सा ज्ञात करें|
a) ₹ 27,000 b) ₹ 25,500
c) ₹ 42,000 d) ₹ 20,625

SSC MTS, 20 Oct 2021, S1



A started a business with a capital of Rs.𝟏, 𝟏𝟐, 𝟎𝟎𝟎. After 𝟐

months, B joined the business with a capital of Rs.𝟖𝟎, 𝟎𝟎𝟎,

and after another 𝟐 months, C joined the business with a

capital of Rs.𝟕𝟐, 𝟎𝟎𝟎. After 𝟏𝟎 months from the start of the

business, B withdrew Rs.𝟖, 𝟎𝟎𝟎 and C also withdrew

Rs.𝟖, 𝟎𝟎𝟎. If B received Rs.𝟗, 𝟖𝟎𝟎 as his share in the profit

at the end of a year, then the total profit was:

A ने रु 𝟏, 𝟏𝟐, 𝟎𝟎𝟎 की प ूंजी लगाकर एक व्यवसाय शुरू
ककया| 𝟐 महीने के बाद, B ने रु. 𝟖𝟎, 𝟎𝟎𝟎 की प ूंजी लगाई
और व्यवसाय में शाममल हो गया, तथा इसके 𝟐 महीने के
बाद C ने रु. 𝟕𝟐, 𝟎𝟎𝟎 की प ूंजी लगाई और व्यवसाय में
शाममल हो गया| व्यवसाय की शुरुआत से 𝟏𝟎 महीने बाद,
B ने रु. 𝟖, 𝟎𝟎𝟎 वापस ले मलए और C ने भी रु. 𝟖, 𝟎𝟎𝟎 वापस
ले मलए| यदद B को वर्ष के अूंत में लाभ में लाभ में से उसके
दहस्से के रु. 𝟗, 𝟖𝟎𝟎 प्राप्त हुए, तो कुल लाभ ककतना था?
a)Rs.𝟑𝟐, 𝟒𝟎𝟎 b) Rs.𝟑𝟓, 𝟖𝟎𝟎 c) Rs.𝟑𝟎, 𝟖𝟎𝟎 d) Rs.𝟑𝟑, 𝟔𝟎𝟎
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A, B and C invested ₹40,000, ₹48,000 and
₹80,000, respectively, for a business at the
start of a year. After six months, for the
remaining time of the year, A added ₹4,000, B
added ₹4,000 while C withdrew ₹4,000 every
month. If the total profit is ₹6,72,000, then
what is C’s share (in ₹)?
A, B और C ने ककसी वर्ष की शुरुआत में एक व्यवसाय
में क्रमश: ₹40,000, ₹48,000 और ₹80,000, का ननवेश
ककया| छः महीने के बाद, वर्ष के शरे् समय के मलए, A
ने हर महीने ₹4,000 ममलाये, B ने हर महीने ₹4,000
ममलाये, जबकक C ने हर महीने ₹4,000 ननकाले| यदद
कुल लाभ ₹6,72,000 है, तो C का दहस्सा (₹ में) ककतना
है?
a) 1,96,750 b) 1,80,480
c) 2,11,200 d) 2,80,320
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